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| Ube 11 €5) Wie viele sind es? Zdhle und erganze die fehlenden
Buchstaben und Worter.

Thereare t W

There are

There are

There are

There is

g
U b E 1 ED stimmt die Aussage? Kreuze an.

yes no

There are five cucumbers. | |

There are six apples. |

There are three oranges.

The lemons are blue. __]
The pears are green. L_I

There are five lemons.

The apples are red.

7 _ ~ Fruit, vegetables, food — Obst, Gemuse, Lebensmittel
Am Obst- und Gemiisestand



LOSUN 4§33 Fur jeden richtig ergdnzten Satz gibt es 1 Punkt.

There are two apples. There are two onions.

There are three pears. There is one orange.
There are four carrots.

LQS@,} n § &% Fur jede richtige Antwort gibt es 1 Punkt.

yes

1X] 3

There are five cucumbers.

There are six apples.

There are three oranges.

X []

The lemons are blue.

The pears are green.

There are five lemons.

X1 O X O XX

(1 X |

The apples are red.

Vocabulary = Wortschatz

Thereis ... / There are ... Es gibt ...

Uben (33 Punkte UbEﬁ &D Punkte



